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General Instructions to Candidates :
® Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.
® Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.
® Read the instructions carefully.
® Calculations, figures and graphs should be shown in the answer sheet itself.
® Malayalam version of the questions is also provided.
® Give equations wherever necessary.

® Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 10 questions from 1 to 12. Each carries 1 score. (10x1=10)
1. The famous book “General Theory of Employment, Interest and Money” was written by
(a) Adam Smith (b) J.M. Keynes

(c) Paul A. Samuelson (d) David Ricardo

2. In aCentrally Planned Economy all important economic activities are organized by
(a) Government (b) Market

(c) Both government and market (d) None of these

3. Which of the following causes rightward shift of the supply curve ?
(a) Risein input price (b) Technological progress

(¢) Imposition of unit tax (d) None of these

4. Total revenue curve under perfect competition is
(a) Downward sloping from left to right
(b) Upward rising from the point of origin
(¢) Parallel towards X axis

(d) Parallel towards Y axis

5.  Financial year in India
(a) 1 January to 31 December
(b) 1 Julyto 30 June
(¢) 1 April to 31 March

(d) 1 October to 30 September
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6.  Which of the following is not a feature of capitalist economy ?
(a) Private ownership of the means of production
(b) Profit motive
(c) Planning mechanism

(d) Price mechanism

7. Which of the following represents budget line equation ?
(@ PX +P,X,=M (b) PX,+PX,<M

) PX +P,X,>M (d) None of these

8. Free entry and exit of firms under perfect competition ensures
(a) super-normal profit (b) loss

(¢) normal profit (d) none of these

9. Under monopoly market situation if marginal revenue is positive,

(@) ep=1 (b) ey>1

() ep<l d ep=

10. Inthe equation C = C +cY, ‘C’ represents
(a) Autonomous Consumption
(b) Marginal Propensity to Consume
(c) Marginal Propensity to Save
(d) Consumption Function
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11. Which of the following does not include in Revenue Receipt ?
(a) Tax Revenue
(b) Recovery of Loans
(c) Grants in aid from foreign countries

(d) Dividends on investments made by Government

12.  Which of the following is not included in the Current Account of Balance of Payments ?

(a) Trade in goods (b) Trade in services
(c) Investments (d) Transfer payments
Answer any S questions from 13 to 18. Each carries 2 scores. (5x2=10)

13. Complete the schedule given below :

Labour 01 2 3 4 5 6
Total Product O3 ]|10 ) 18 | 24 (29 | 33
Marginal Product | —
Average Product -

14. Classify the following into microeconomics and macroeconomics :

Economic Growth, Individual Demand, General Price Level, Profit of a Firm.

15. Distinguish between marginal propensity to consume and marginal propensity to save.

16. Define Oligopoly market. List any two ways by which firms in Oligopoly market

behave.

SY-35 6



11.

12.

13.

14.

15.

16.

®06% O30S)ONBE9MAIRIGE 0AIM Y AIEAN T3 DUBHASITTD aB® ?
(a) Aol aie)MoMo

(b) aPWalduB GNdla)) allSleo®d

(c) alleBuroromietnglad MMBE TVANIVWWMEBUY

(d) vandeand dleamalemgled mlanss e19e alladl®o

®26Y O3S EVNClENMAUIEE  @esal)  Wlayddiled  »00G  af)SOVEIT3
D3O |SITN® aB® ?

(a) AVIWMEBBANS 1§10 (b) CILAIMEEBRNS AIYAII00

(c) oeaalesnyd (d) o6e®a0Q @OSONH:UD

13 )08 18 190 €a108imSEG8 aBo®BIEe S af)qRATIM  OMOOHAYI®)H.
2 capod ail®o. (5x2=10)

@I6)¥ 6)30S)TTNABNHNAM ISl al)RTIWIBN)B> :

HDIYIB3 011 2 3 4 5 6

AT DBIal0Mo O3] 10| 18 | 24 | 29 | 33

@00 O@3aldMo -

UOOIVOBI] O@3aldMo -

0¥ OHISIOTNBIENMAIOHR  AV)BHYIVINUGTI B VOO0, ALO!  AVIMIGITI B>
VOO0 af) ITFETBOHM @0 SN HND>.

MLIMNUA B QISBa), UGN Ga198Mo, Saldm)ailel Aleladve, 680) 2M3alIBH,
@emiiglong eneo.

MMM DalGRIY (AU}  AVlA®D  qVMIIBY (UMD  @IE3
AN @lo)Fl)d.

@@ 0UuSlVO@) HEMIIBo af)OININ MBI Nl99)B. @RMBAJIUSIV®)] BecMIISOTIeE!
D@3aIOBH WYEIQIABIOS OME O l10)N0Q BlGNHUD LY G2 1Q)d.

SY-35 7 P.T.O.



17.

18.

19.

20.

21.

22.

23.

Distinguish between normal profit and super-normal profit.

Distinguish between balance of payments and balance of trade.

Answer any 6 questions from 19 to 25. Each carries 3 scores. (6x3=18)

Draw the outline of a production possibility frontier and mark the following situations :

(1) Fuller utilization of resources

(i1) Under utilization of resources

Identify any three features of indifference curve.

Explain the three laws of returns to scale.

Recently the government of India have decided to restrict the export of onion towards
foreign countries. Diagrammatically illustrate the immediate effect of this decision on

the equilibrium price and quantity of onion in India.

Compare monopoly and monopolistic competition based on the features given below :

Features Monopoly | Monopolistic Competition

Number of firms

Entry of firms

Nature profit in the long-run
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24.

25.

26.

27.

28.

Distinguish between public goods and private goods. Write an example of each.

Explain the concept of ‘Paradox of Thrift’.

Answer any 4 questions from 26 to 30. Each carries 4 scores. (4x4=16)
(a) Distinguish between the concepts Nominal GDP and Real GDP. 2)

(b) Which one is considered as a better concept for comparing the GDP among

countries ? 1)

(c) Name the index representing the ratio of Nominal GDP to Real GDP. 1)

Explain the determination of equilibrium national output and aggregate demand in a

two sector economy with the help of a diagram.

The diagram showing Short-run Average Cost (SAC) Curve is given below :

Cost
SAC

N

Output

(a) Incorporate Average Variable Cost (AVC) Curve and Short-run Marginal Cost
(SMC) Curve in the diagram. )

(b) Identify the relationship between Short-run Marginal Cost (SMC) and Short-run
Average Cost (SAC). 2)
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29.

30.

31.

32.

33.

Market determined price of paddy in Kerala is ¥ 21 per kilogram. But government
intervenes in the market and sets ¥ 26 per kilogram as its minimum price with a view to

protect the interests of paddy farmers.
(a) By what name this policy of government is known ? 1)

(b) Analyse the consequences of this policy with the help of a diagram. A3

Diagrammatically analyse the short-run equilibrium of a monopoly firm by using total

revenue curve and total cost curve.

Answer any 2 questions from 31 to 33. Each carries S scores. 2x5=10)

(a) Define foreign exchange market. Identify any two major participants in foreign

exchange market. (2)
(b) Distinguish between flexible exchange rate and fixed exchange rate. )
(c) List any two merits of flexible exchange rate. 1

(a) Identify any four features of a perfectly competitive market.

(b) Diagrammatically explain the profit maximization of a firm in the short-run under

perfect competition.

(a) Identify the formulae for calculating revenue deficit, fiscal deficit and primary

deficit. 3)

(b) Suggest any two measures for reducing fiscal deficit. )
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Answer any 2 questions from 34 to 36. Each carries 8 scores. (2x8=16)

34. (a)
(b)
(c)
35. (a)
(b)

Define price elasticity of demand. Analyse any two factors determining price

elasticity of demand for a commodity. 3)

Draw three constant elasticity demand curves and mark the value of price

elasticity of demand on each of them. 3)

When the price of a commodity falls from ¥ 6 to ¥ 4 per unit, its quantity

demanded rises from 40 units to 50 units. Calculate the price elasticity of demand. (2)

Explain the product method and expenditure method of calculating gross domestic

product. (6)

Discuss any two limitations of using gross domestic product as an index of

welfare of a country. 2

36. People desire to hold money balance mainly for two motives. Explain these two

motives.
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